519M324H S ©
Bi-colour foam module with assortment (8 pcs.)

pes description item/size

4 Screwdrivers for slot-head 324
screws/0,5x3x75-0,8x4x100-1x5,5x125-
1,2x6,5x150

1 Screwdrivers for slot-head screws/ 324D
0,6x3,5x100

1 Screwdrivers for slot-head screws/ 324 E
1,6x8x175

2 Screwdrivers for PHILLIPS® screws/ 324 PH
1x100-2x125

1 Bi-colour foam module (empty) 519 M 324HAV

I‘fnPI:(," ;r code ===

415x188x45 800 U05190910 1

519 M 324HAV

Bi-colour foam module (empty)
- For assortment 519 M 324H

LxPxH
mm

415x188x45

code =t
U05191044Q 1

0 519M333K < ©C © © O 0

Bi-colour foam module with assortment (23 pcs.)

pes description item/size

1 COMBIDRIVE magnetic bit-holder 333 1/4 MG

1 COMBIDRIVE spinner holder 3331/4Q

5 Reversible COMBIDRIVE blades for hex 333E
socket screws/2,5-3-4-5-6

1 COMBIDRIVE handgrip with 3 functions 333K

2 Reversible COMBIDRIVE blades for 333 PH
PHILLIPS® screws/(0-1)-(2-3)

5 Reversible COMBIDRIVE blades for TORX® 333 STX

Tamper Resistant screws /(T7-T8)-(T9-T10)-
(T15-T20)-(T25-T27)-(T30-T40)

4 Bits for slot-head screws -1/4"/ 660
0,6x4,5-1x5,5-1,2x6,5-1,6x8

4 Bits for POZIDRIV® - SUPADRIV® screws 660 PZ
-1/4"/0-1-2-3
1 Bi-colour foam module (empty) 519 M 333KV

»d
519 M 425TPMS O © 0&

Bi-colour foam module with assortment (10 pcs.)

519 M 324STX ©
Bi-colour foam module with assortment (7 pcs.)

pes description item/size

7 Screwdrivers for TORX® Tamper Resistant 324 STX
screws/T10x75-T15x75-T20x100-T25x100-
T27x100-T30x125-T40x150

1 Bi-colour foam module (empty) 519 M 324STXAV
LxPxH i code =
mm ar -

415x188x45 800 U05190911 1

"fnplf," I(.g code =
415x188x45 1 05190978 1
519 M 333KV
Bi-colour foam module (empty)

- For assortment 519 M 333K
L’g.}‘." code —
415x188x45 051909780 1

pes description item/size
2 Long hexagonal sockets/11-12 235 1/4 EL
1 Valve extractor 425C
1 Socket-holder bit -1/4" 660 Q
3 Bits for TORX® screws - 1/4"/ 664 TX
T10-T15-T20
1 Torque screwdrivers 824 A/1,4+10
1 Ratchet handle for torque screwdrivers 824 C
1 Bi-colour foam module (empty) 519 M 425TPMSV
LxPxH i —
'mm Kg code ==
415x188x45 1,1 U05190425 1
519 M 425TPMSV

Bi-colour foam module (empty)
- For assortment 519 M 425 TPMS

"’I:r.ﬁ" code =
415x188x45 U05190425Q 1

519 M 324STXAV

Bi-colour foam module (empty)
- For assortment 519 M 324STX

code e
U05191045Q 1

LxPxH
mm

415x188x45

519 M 382F
Bi-colour foam module with assortment (7 pes.)
pes description item/size
1 Chisels 362/175
3 Pin punches/2x115-3x125-4x145 367
1 Centre punches 368/3x100
1 Mallets 376/28
1 Hammers for mechanics with graphite 382 F/500
handle
1 Bi-colour foam module (empty) 519 M 382FAV

)
"fnplf‘" Kg code ==

415x188x45 1,5 U05190926 1

519 M 382FAV

Bi-colour foam module (empty)
- For assortment 519 M 382F

U05191046Q 1

LxPxH
mm

415x188x45

41 ©9S000BOQ

519 M 613AEA 0

Bi-colour foam module with assortment (46 pcs.)

pes description item/size
10 Hexagonal sockets/ 2351/4EN
5,5-6-7-8-9-10-11-12-13-14
2 Extensions/50-100 236 1/4
1 Reversible ratchet with sealed mechanism 237 A 1/4
(certified IP51)
1 T-handle with sliding square drive 2401/4
1 Universal joint 2411/4
1 Spinner with handle 2431/4
9 Set of 9 long angled hexagon keys with 280 LTS/S9

spherical head/1,5-2-2,5-3-4-5-6-8-10
3 Bits for slot-head screws -1/4"/ 660
0,6x4,5-1x5,5-1,6x8

5 Bits for hex socket screws -1/4"/ 660 E
3-4-5-6-8

3 Bits for PHILLIPS® screws -1/4" 660 PH/1-2-3

3 Bits for POZIDRIV® - SUPADRIV® screws 660 PZ/1-2-3
-1/4"

6 Bits for TORX® Tamper Resistant screws 660 STX
-1/4"/115-T20-T25-T27-T30-T40

1 Bit-holder sockets 684/1/4

1 Bi-colour foam module (empty) 519 M 613AEAAV

LxPxH L

mm Kg code e
415x188x45 1 U05190940 1
519 M 613AEAAV

Bi-colour foam module (empty)
- For assortment 519 M 613AEA

L""rlfl" code v
415x188x45 U05191047Q 1

USAG 247



